
Assembly instructions

8-887-X

Cloth Trolley 46 Compartments



Assembly instructions

1

2

Screw M10x25 (4x)

Wheel (4x)

Threaded insert

Screw M8x45 mm

countersunk (4x)



Assembly instructions

3

4

Screw M8x20 (4x)

Nut M8 (4x)



Assembly instructions

5


